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Purpose: Medium power amplifier applications.

R R

TR s BRARG, 55 2SD1664 (3DG1664) T Ah.
Features: Low saturation voltage, complements the 2SD1664 (3DG1664).
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HEBE 24 /Electrical characteristics (Ta=25°C)
EACEN
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Symbol Test condition Be/ME | MY | B E | Unit
Min Typ Max
Veso I=50uA 1:=0 =40 V
Vero I=—1. OmA 1:=0 -32 V
Viso I;=50u A 1=0 -5.0 V
Teso V=20V 1:=0 -0.5 A
Tiso Vir=4. 0V 1=0 -0.5 A
hgg Ve==3. 0V I=0. 1A 82 390
Vg san) 1=—500mA 17=—50mA -0.2 -0.5 v
i Ve==b5.0V I=50mA f=30MHz 150 MHz
Cob V=10V 1:=0 f=1. OMHz 20 30 pF
hes 7084 Bl 3% /hee Classifications. Marking:
hes 7344
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hr: Range
1=y HBAP ¥ HBAQ ¥ HBAR
Marking
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